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A.	 Name the following devices:

	 1. …………….….	 2. …………….….	 3. …………….….

B.	 Define the following:

1.	 Client - ……………………………………………………………………………………

2.	 Server - ……………………………………………………………………………………

3. 	 Router - ……………………………………………………………………………………

C.	 Write ‘T’ for true and ‘F’ for false. Correct and rewrite the false statements.

1.	 In Star topology, all the nodes are connected to a single common path.

	 ……………………………………….……………………………………………………

2.	 CAN stands for Computer Area Network.

	 ……………………………………….……………………………………………………

3.	 Networking refers to the geometric arrangement of computers or nodes in a network.

	 ……………………………………….……………………………………………………

4.	 TCP/IP stands for Transmission Control Protocol/Internet Process. 

	 ……………………………………….……………………………………………………

5.	 In Star topology, all the nodes are connected in a circular path.

	 ……………………………………….……………………………………………………
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